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1. Given g(x)=2+ Stm[%(x - 1)}, which of the following statements is true?

The amplitude of g(x) is2. A = 3

@ The period of g(x) is 8.
T

The phase shiftis 1. W = —1

(a) ITonly (l;/)\\ IT only (c) I only
(d) TandIIonly (e) IandIII
Z, On the graph of y=—cscx, as x increases on x € [0, 7r:|, the function y
) ¢
(a)  decreases (b)  is constant (c) increases

)
~{— |
(d)  decreases, then increases @ increases, then decreases i(\\

3. What is the smallest positive value where y=3— ZSin[%(x-FB)} has a point

at a minimum?
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4, Which of the following is the graph of y=4 +ZCSC(27n(x+ 3))‘? (Note: The

marks on the x-axis are at every 7 units.) h=-3
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5. Which of the following is the graph of y=1-sin(x+7)?
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6. Sketch one cycle of y=—3— 3Sin[£(x— 1)}
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7 Sketch one cycle of y=1+cot T (x+1
¢ 12




CD

8. Sketch one cycle of y= -1 -sec £ x+2):|
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9. Find a sine equation for this graph:
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19, If H(x) =—1- 3003{1%(}1- 2)}, find the first thre@alues of x

where H(x)=1.3.
3> -t —3cos = (s )
23 = =3 oo lkarw)
—~ 37 = Cos - (=+2)
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11.  Astronomers have noticed that the number of visible sunspots varies
sinusoidally with time. In 2003, there were a minimum of 10 sunspots and 11
years later the sunspots reached a maximum of 110.

a. Sketch the graph of this sinusoidal function
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b. Write the particular equation expressing the number of visible sunspot over

time.

& Y= L0-SDecosT (e-2003) on Wz Gorso ccs%“(t—chw\

g Predict the number of sunspot that will be visible in 2017.
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d. How many years after 2003 did the amount of visible sunspot first reach
100.
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